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3) FRYSALADUZR b

'SAVE "13:FUKU"

'FUTORYU KEISAN PROGRAM

DIM S(10),Z2(10),B(5),B2(10),H1(10>,H2(10),H3(10),H(5),HH(10),
N(10),NN(10),F(10),Q1(10),Q2(10),Q3(10),QQ(5)

40 H1(1)=1!:H2(1)=2.5:H3(1)>=1!

50 Q=1500:N(1)>=.035:N(2)=.03:N(3)=.035:G=9.8:B(1)=160:B(3)=150
60 FOR I=1 TO 9:READ S(I):NEXT I

70 FOR I=1 TO 10:READ Z({(I):NEXT I

80 FOR I=1 TO 10:READ B2(I):NEXT I

90 NN(1)>=0

100 FOR II=1 TO 9

110 I=I1

120 H1(I+1)=H1(I)

130 H2(I+1)=H2(I)>

140 H3(I+1)=H3(1)

150 H(1)=H1(I):H(2)=H2(I):H(3)=H3(I)

160 B(2>=B2(1)

170 GOSUB 500

180 LPRINT USING "PHI= .####°"7" GAM= .####""""";PHI;GAM
190 F1=H2(I)+Z(I1)+Q"2/(2%G)*PHI/GAM"3+S(1)*Q"2/2/GAM"2
200 FOR J=1 TO 3:QQ(J)=B(J)*Q*H(J)"(5/3)/N(J)/GAM:NEXT J

210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400

410
420
430
440

450
460
470
480
490
500
510
520
530
540
550

QI(I)=QR(1):@2(1)=QQ(2):Q3(I)=RQR(3)

I=1+1:B(2)=B2(I)

GOSUB 500

NN(I)=NN({I)+1

F2=H2 (1) +Z(1)+Q"2/ (2*%G)*PHI/GAM"3-S(1-1)%Q"2/2/GAM" 2
F(1)=F1-F2

LPRINT USING "NN= ### ";NN(I)

LPRINT USING "Fl= ###.##88% F2= HER . AH#E F= #$$ HEER8" F1F2;F (1)

IF ABS(F(I))<1E-04 GOTO 330

FOR J=1 TO 3:H(J)=H(J)+F(I1)*.7:NEXT J
H2 (1)=H(2)

GOTO 230

HI(I)=H(1):H3(I)=H(3)

FOR J=1 TO 3:QQ(J)=B(J)*Q%H(J)"(5/3)/N(J)/GAM:NEXT J
QL(IN=QQ(1)>:Q2(¢(1)=QQ(2):Q3(1)=QQ(3)

NEXT II

FOR I=1 TO 10:HH(I)=H2(I)+Z(I1):NEXT I

LPRINT "NO H Hl H2 H3 NN F"
FOR I=1 TO 10

LPRINT USING "## ## .48 #i . Hud it #ad ## . #iH EE Y Hit L REHBREY
sI;HHCI) sHICI) s H2 (1) 3 H3CID) sNNCI) 3FCL)

NEXT 1

LPRINT "NO Q1 Q2 Q3"

FOR [=1 TO 10

LPRINT USING "## ####.#48# HiHE, #H# BEud . gug "
;1:Q1(1);Q2(1);Q3(I)

NEXT I

DATA 500,500,200,600,300,400,500,300,500
DATA 0,0.5,0.9,0.8,2.0,2.3,3.0,3.0,3.5,4.0
DATA 300,320,280,250,300,300,320,350,300,250
END

PHI=0:GAM=0

FOR J=1 TO 3
PHI=PHI+H(J)"3/N{J)"3%B(J)
GAM=GAM+H(J) " (5/3)/N(J)*B(J)
NEXT J:RETURN

31



(5] REBEME4 (za—bYik)

32

—

(1) 7ersam7sm—F%~—+t

i START '

He ="Fifi s kil

NI =W i #

AA, BB, CCoitir

Hi=H: + (z,—2z,)

f(H) &2 35H5

£7(Hi) 235

AHy=—[(H:)/f°(H)

Hi=Hi+4H

| £(H:) | <€

J, H.

) Zur3saoiEE

H: =H;

X &5 fi# FiTA
130 NI: G im0 558, NJ: o
%
140 X TFulids 5 OpEEE (m), Y Sl
(m), Z: {IKE (m), H: KE (m),
HH: & (m), SN: ==y 7 ORI
B, DQ: 4BHiHE (mds)
150 Q: iE (m¥s), G: WHIGEEE (m/s?).
EPS: {191 b 3% .
160 IR LD .
170~230 | F3iFEITDOAN.
250 KK: & U EE D At
260 ® R AA wEE.
310 ® &0 BB #3158
320~330 | @Ko CC w44,
340 H1 oyt Hi=H,+ 4z ©4.2 5.
350 T v—F 2 AOLGET @, @, O, @,
®, @RI
360 ®@ Ro f(H) %515
370 © KXo f(Hy) &5
380 AW LY 4dH, oL
390 M2 7 v 7o Hy ofiic #i 1F fi 4H,
Nz 5.
420 IFUED) 23FFPE#E e A E 5 D)

1.




@ FRIYSLOUR P

100
110
120
130
140
150
160
170
180
180
200
210
220
230
240
245

250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
140
450
160
470
480
490
500
510
520
530
540
§50
560
570
580
590
600
610
6§20
6§30
640
650
660
6§70

680
690
700

710
720
730
740
750
760
770
780
780
800
810

SAVE"FUTO6" )
ETITTITTI LT I - - ) EEBE (6) stserrkxsssss
DEFINT I-N
N1=-3 :N]J=10
DIM X(NI).Y(NI.NJ).Z(NI.XJ). . H(NI.NJ). HH(NJ). SN(NI.NJ).DQ(NI. X))
Q-1500 : G«9.8 : EPS~. 001
HH (1) =2. 5
FOR J=1 TO NJ

READ X(J).Y(2.0).2(2.))

FOR I=1 TO XI

IF I1=2 THEN SN(I.J)=.03 : GOTO 220

SN(I.J)=.035 = Y(l.J)=150 = Z(I.J)=Z(2.J)+1.5§

NEXT 1

NEXT J
CkkkckkdkkkkhkkRkkkkbkRkkkdokdEkkkkk kR kR bk kR R R Rk kR kR R E Rk k
LPRINT "Wii N O b s EREE EARK¥NKE HEWKR
#MmHhEBLEER

KK=0

A=Q"2/(2%G)
FOR J=2 TO NI

K=0

JJ=1-1
DX=X(3)-X(JJ)
B=DX%Q"2/2

GOSUB 470: IF JJ-1 THEN GOSUB 660
C~HUH(JJ)+AxPS/PL"3+B/PL"2

HH (J) =HH (JJ) +Z (2. J)-2(2. 1))

JI=J : GOSUB 470

FH=HH (J) +A*PS/PL"3-B/PL"2-C
FHD=1+A* (PSD/PL"3+PS*PLD3) -BxPLD2
DH=-FH/FHD

HH (J) =HH (J) +DH

K=K+1 : KK=KK+1

© GOSUB 690

IF ABS (FH)>EPS THEN 350

GOSUB 660
NEXT J

LPRINT:LPRINT:LPRINT "# b B L @B E & -«":KK

END

CRREEEERFETE R R R KRR AR R R Rk ke Rk kR R AR R R Rk kR Rk kk ok k ke k ok ko
PS=0 : PL=0 : PSD=0 : PLD=0
FOR I=1 TO XNI

H(l.JI)=HH (JI)-Z (1. J))

IF H(I.JJ)<0 THEN H(I.JJ)=0
PS=PS+H{I.JJ)"3xY(l.3J)/SN(1.J3)"3

PL=PL+H (1. JJ) "~ (5/3) %Y (1.JJ)/SN(I.1])
NEXT 1
FOR I=-1 TO ¥

BQ(E. JIY=Y (1. JJY =M (1.J3)"(5/3)%Q/ (SN (I.1)]))=%PL)
NEXT 1

IF JJ<>J THEN 650
FOR I=! TO NI

PSD=PSD+3% (HH (J)-Z(1.J)) " 2%xY(I.])/SN(I.J)"3
PLD=PLD+5/3% (HH (J)-Z (1. 1))~ (2/3)%Y (L. J) /SN (1.1}
NEXT 1
PLD3--3%PL" (-4) #PLD
PLD2--2%PL" (-3) #PLD

RETURYN
LPRINT USING =~ &2 Sus, £ih uuky = EE T EEL L5
g2"sJJLHH (L)) . DQ(L1. J8).DQE2.J)).DQ(3.7]).K

LPRINT USING "#e=zWiifii <@ E K{r =#& 35 [ (H) =22 ssgiei”
$JJ K HH (D). FH
RETURN

DATA 0.300.
DATA 500.320.
DATA 1000, 280.
DATA 1200. 250.
DATA 1800. 300.
DATA 2100. 300.
DATA 2500. 320.
DATA 3000. 350.
DATA 3300. 300.
DATA 3800. 250,

W wNNeS oSO
Sunmoowoe @®ouo
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